
13

6

4

12

3

10

9

7
2

11

1

8

5

ITEM NO. Article number DESCRIPTION QTY.

1 000070 CW40-CILINDER 1

2 001929 CW40-SPIE 1

3 001930 CW40-VEERHOUDER 2

4 001969 CW40-BORGPLAAT 2

5 000068 CW40-VEER 2

6 001970 CW10/40-SCHIJF 2

7 001973 CW40-SCHIJF-VOOR 2

8 001972 CW40-BUS 2

9 011773 M12x40 8.8 4

10 001968 M16x50 10.9 2

11 000072 Cil.inbusbout M16x70 10.9 1

12 035116 Borgmoer M16 1

13 001971 M20x130 10.9 2

THIS D
RA

W
IN

G
 IS O

UR PRO
PERTY. IT C

A
N

'T BE REPRO
D

UC
ED

 O
R C

O
M

M
UN

IC
A

TED
 W

ITHO
UT O

UR W
RITTEN

 A
G

REEM
EN

T.

DESCRIPTION: CW20-30-40 hydraulisch

GP Equipment BV
Titaniumstraat 10

6031 TV Nederweert
+31(0)495-745680

Info@gp-equipment.com


	Sheet1
	Drawing View1


